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thickened disk vol. at z ‘

(a) = (\/1—513)(133 yz\/l—a:Q

bout z-axi
(b) 27mc<\/1—:c2) dx A= TTeRD

(C) (l—az) x

(d) none of the above
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thickened shell vol. at x ‘

Yy = \/1 — 2
about y-axis

(a) 2mx (1 — 35‘2) dx

(b) T (1 — :132) dx

(C) 2mxy/ 1 — 2 dx

(d) none of the above
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(b) z(2z)* 1
ovz—1[ 4 2
() (1 +22)7 1 |2 (1 +a7)]

(d) none of the above
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628 + 7% — 823
im |8 T r Tl =77

r—0 _7:[:5 — x4 + 9.5(:3_

(a) DNE

(b) —8/9

() 6/7

(d) none of the above
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(a)

(b) False

True

T or F:
Any local max or local min is
at a critical number.
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(a)

(b) False

True

T or

If />0 on I,

then f is cc up on I.
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[d/dx][tan(zy)] = 77

(a) —[sec(ay)]ly + =y/]

(b) [sec?(zy)]ly + zy/]

(c) —[sec®(zy)]ly + =]

(d) none of the above
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